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                                                              SECTION-A                                              (4 x 5 = 20) 

Answer Any Four of the following 

1) a) Objects of financial management. 

   Ñ™èþ¢ °ÆæÿÓ-çßý×ý Äñý¬MæüP Ë„>- Å-Ë$. 

 b) Features of financial asset. 

   Ñ™èþ¢ BíÜ¢ Ë„æü-×ê-Ë$. 

 c) Nature of investment decision. 

   ò³r$t-ºyìþ °Ææÿ~-Ä¶ý$Ð@þ¬ çÜÓ¿ê-Ð@þ-Ð@þ¬. 

 d) EPS. 

   ÐésêMæü$ BÇj-™é-Ë$. 

 e) Optimum capital structure. 

   AÀ-Ë-çÙ-×îýÄ¶ý$ Ð@þÊË-«§æþ-̄ @þ-Ð@þ¬. 

 f) Weighted average cost of capital. 

   ¿êÇ™èþ çÜVæür$ Ð@þÊË-«§æþ¯@þ Ð@þÅÄ¶ý$-Ð@þ¬. 

 g) Net working capital. 

   °MæüÆæÿ °ÆæÿÓ-çßý×ý Ð@þÊË-«§æþ-̄ @þ-Ð@þ¬. 

 h) Cash budget. 

   ¯@þVæü§æþ$ ºyðþj-sŒý. 



 

                                                                   SECTION-B                                            (2 x 10 = 20) 

Answer Any Two of the following 

2) State the practical considerations in dividend decisions. 

 yìþÑyðþ…yæþ$ °Ææÿ~-Ä¶ý*-ËÌZ A¿êÅçÜ ç³Ç-Væü-×ýË$ ™ðþË$-ç³#-Ð@þ¬. 

3) Explain the role of finance manager. 

 Ñ™èþ¢ °Æ>Ó-çßý-Mæü$° ´ë{™èþ¯@þ$ ÑÐ@þ-Ç… è̂þ$-Ð@þ¬. 

4) Examine net income approach to capital structure. 

 Ð@þÊË-«§æþ¯@þ °Æ>Ã-×ê-°Mìü °MæüÆæÿ B§éÄ¶ý$ Ð@þ*Æ>Y°² ç³Ç-Ö-Í…^èþ$-Ð@þ¬. 

5) Enumerate different values relating to firm. 

 çÜ…çÜ¦Mæü$ çÜ…º…«̈ …_ ÑÑ«§æþ ÑË$-Ð@þË$ ™ðþË$-ç³#-Ð@þ¬. 

                                                    

                                                                   SECTION-C                                          (2 x 20 = 40) 

   Answer Any Two of the following 

6) Afirm has sales of Rs. 10,00,000, variable cost of Rs. 7,00,000 and fixed cost of Rs. 

2,00,000 and debt of Rs. 5,00,000 at 10% rate of interest. What are the operating, financial 

and combined leverages? 

 JMæü çÜ…çÜ¦ Äñý¬MæüP ÑÐ@þ-Æ>Ë$ “Mìü…¨ Ñ«§æþ-Ð@þ¬V> E¯@þ²Ñ. 

 AÐ@þ$Ã-M>Ë$ Ææÿ*. 10,00,000 

 ^èþÆæÿ QÆæÿ$a-Ë$ Ææÿ*. 7,00,000 

 íÜ¦Ææÿ QÆæÿ$aË$ Ææÿ*. 2,00,000 

 10% º¬×ýÐ@þ¬  Ææÿ*. 5,00,000 

 çÜ…çÜ¦ Äñý¬MæüP Bç³-Æóÿ-sìý…Væü$, Oòœ-̄ é-°Þ-Ä¶ý$ÌŒý Ð@þ$ÇÄ¶ý¬ Mæü…O»ñý…yŠþ ÍÐ@þ-Æóÿ-h-Ë¯@þ$ Mæü¯@þ$-Vö-̄ @þ…yìþ. 

7) A company is considering the purchase of any one of the machines. Machines X and Y 

each cost Rs. 50,000. Earnings after taxation are expected to be as under: 

 



 

   Year   Machine X   Machine Y  Disc. factor at 10% 

    Rs.   Rs. 

   1   15,000   5,000   0.9091 

   2   20,000   15,000   0.8264 

   3   25,000   20,000   0.7513 

   4   15,000   30,000   0.6830 

   5   10,000   20,000   0.6209 

 Evaluate the two alternatives according to: 

 i) Payback period method. 

 ii) ARR method. 

 iii) NPV method – a discount rate of 10% to be used. 

 JMæü Mæü…ò³± H§ø JMæü Ä¶ý$…{™é°² Mö @̄þ-Ð@þ-Ìñý-̄ @þ° ™èþË…^èþ$-̂ èþ$-̄ @þ²¨. {ç³† X, Y Ä¶ý$…{™éË Ð@þÅÄ¶ý$Ð@þ¬ Ææÿ*. 50,000. ç³¯@þ$² ™èþÆæÿ$-

Ðé™èþ BÇj-™éË$ D Ñ«§æþ-Ð@þ¬V> Ð@þ#…yæþ$-̄ @þ° ™èþË…^ðþ-̄ @þ$. 

   çÜ…Ð@þ-™èþÞ-Ææÿ-Ð@þ¬   Ä¶ý$…{™èþ-Ð@þ¬  X   Ä¶ý$…{™èþ-Ð@þ¬ Y  yìþÝûP…r$ M>Ææÿ-Mæü-Ð@þ¬ 10% 

    Ææÿ*.   Ææÿ*. 

   1   15,000   5,000   0.9091 

   2   20,000   15,000   0.8264 

   3   25,000   20,000   0.7513 

   4   15,000   30,000   0.6830 

   5   10,000   20,000   0.6209 

 D “Mìü…¨ Ðésìý-̄ @þ-̄ @þ$-çÜ-Ç…_, Æðÿ…yæþ$ {ç³™éÅ-Ð@þ*²-Ä¶ý*-Ë¯@þ$ Ð@þ$¨…ç³# ^óþÄ¶ý$…yìþ: 

 i) †ÇW Æ>º-r$t-Mö¯@þ$ M>ËÐ@þ¬ ç³§æþ®-†.  

 ii) çÜVæür$ Æ>ºyìþ Æóÿr$. 

 iii) NPV  ç³§æþ®-†¯@þ 10% yìþÝûP…r$ Æóÿr$-™ø. 

8) How do you calculate the cost of retained earnings? 

 °Íí³ Ð@þ#…_¯@þ BÇj-™éË Ð@þÅÄ¶ý*°² GsêÏ Væü×ìý-Ýë¢-Ææÿ$? 

9) What are the sources of financing working capital? 

 °ÆæÿÓ-çßý×ý Ð@þÊË-«§æþ-̄ @þÐ@þ¬ çÜÐ@þ$-Mæü*-Ææÿ$a--Mö¯@þ$ B«§é-Æ>Ë$ HÑ$? 
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